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Program: BE Computer Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI 

Course Code: CSDLO6021  and Course Name: Machine Learning. 

Time: 1 hour                                                                                                                   Max. Marks: 50 

===========================================================================   

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  Which of the following is NOT the type of machine learning? 

Option A: Supervised Learning  

Option B: Expert Systems                         

Option C: Unsupervised Learning              

Option D:  Reinforcement Leaning 

  

Q2. Which statement is Not correct definition of Machine Learning? 

Option A: Program can adapt to new data independently of human action. 

Option B: Input data and output are fed to an algorithm to create a program. 

Option C: Manually creating program that uses input data and runs on a computer to 

produce the output.                       

Option D: The ability to automatically learn and improve from experience without being 

explicitly programmed. 

  

Q3. Determine the gradient of the function 2x
2
 ï y

2
 ī 4y + 8 at point (0, 0)? 

Option A: fɳ = 2i ī 4j                                   

Option B: fɳ = 0i ī 4j                                                             

Option C: fɳ = 1i ī 3j                                   

Option D: fɳ = 2i ī 8j                                    

  

Q4. Which of the following statement is False for Newton Raphson Method in 

Machine Learning? 
Option A: It is rarely used in ML, because it is not practical to store the Hessian of large 

problems. 

Option B: Newton's method would always takes fewer iterations than the gradient method. 

Option C: When Newton's method is started from a point near the solution, it will converge 

very quickly. 

Option D: It makes use of second order derivate of the objective function. 

  

Q5. Using steepest descent algorithm, determine the minimum of the function f(x, y) 

= 25x
2
 + y

2
? Use the point (1, 3) as the initial estimate and Ŭ as 0.5 for the 

optimal solution. Conduct one iteration.   
Option A: (0.9, 1.3)                                       . 
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Option B: (0.5, 2.9)                                                                 

Option C: (2, 0.5)                                           

Option D:  (1, 2)       

  

Q6. Which of the following is INCORRECT? 

Option A: Direct search methods are useful when the optimization function is not 

differentiable. 

Option B: The gradient of f(x,y) is the a vector pointing in the direction of the steepest slope 

at that point. 

Option C: The Hessian is the Jacobian Matrix of second-order partial derivatives of a 

function. 

Option D:  The second derivative of the optimization function is used to determine if we 

have reached an      optimal point. 

  

Q7.  In artificial Neural Network interconnected processing elements are called ------- 

Option A: nodes or neurons 

Option B: weights 

Option C: axons 

Option D:  Soma 

  

Q8.  Neuron can send ---------- signal at a time. 

Option A: multiple 

Option B: one 

Option C: none 

Option D:  any number of 

  

Q9. Each connection link in ANN is associated with --------- which has information 
about the input signal. 

Option A: Neurons 

Option B: Weights 

Option C: Bias 

Option D:  activation function 

  

Q10.  Following artificial neural network does not have feedback Loop: 

Option A: Feedforward network 

Option B: Recurrent network 

Option C: Hopfield network 

Option D:  Jordon network 

  

Q11.  Chance Nodes are represented by __________ 

Option A: Disks 

Option B: Squares 

Option C: Circles 

Option D:  Triangles 

  

Q12.  Which of the following are the advantage/s of Decision Trees? 



4 | P a g e  
 

Option A: Possible Scenarios can be added 

Option B: Use a white box model, If given result is provided by a model 

Option C: Worst, best and expected values can be determined for different scenarios 

Option D: a small change in the data can lead to a large change in the structure of the 
optimal decision tree 

  

Q13. Which of the following evaluation metrics can be used to evaluate a model while 
modelling a continuous output variable? 

Option A: AUC-ROC 

Option B: Accuracy 

Option C: Logloss 

Option D:  Mean-Squared-Error 

  

Q14.  Which of the following is true about Residuals? 

Option A: Lower is better 

Option B: Higher is better 

Option C: Mixed is better 

Option D:  Residuals have no effects 

  

Q15. In SVM the relationship between the norm and the margin is 

Option A: The bigger the norm the bigger the margin 

Option B: The bigger the norm the smaller the margin 

Option C: The smaller the norm the smaller the margin 

Option D:  Margin and norm are not related to each other 

  

Q16.  Regression Problems  where the parameter  values are unknown and are capable 
of being estimated from the training set is called as 

Option A: Parametric Regression Problems 

Option B: Non Parametric Regression Problems 

Option C: Prediction problems 

Option D:  Binary Classification Problems 

  

Q17. RBF has __________ hidden units 

Option A: One 

Option B: Two 

Option C: Many 

Option D: None 

  

Q18. Covers Theorem is used in 

Option A: Support Vector Machine 

Option B: Expectation Maximization 

Option C: Radial Basis Function 

Option D:  Multi Layer Perceptron 

  

Q19.  Hard Clustering has____________________________between cluster of data 
points 
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Option A: Minimal Overlapping 

Option B: Maximum Overlapping 

Option C: Subjective Overlapping 

Option D:  No Overlapping 

  

Q20. _____ are simple correlations between the variables and the factors 

Option A: Factor scores  

Option B: Factor loadings 

Option C: Correlation loadings 

Option D: Both a and b are correct 

  

Q21. Factor analysis may not be appropriate in all of the following situations except 

Option A: a small value for Barlettôs test of sphericity is found 

Option B: small values of the KMO statistic are found 

Option C: the variables are not correlated   

Option D:  the variables are correlated 

  

Q22.  In outliers the __________ distance is less than the ____________________ 

distance 
Option A: Inter cluster, Intra cluster 

Option B: Intra cluster, Inter cluster 

Option C: Both a and b are correct 

Option D:  There is no connection between outliers and distances (Inter and intra) 

  

Q23. Semantic Transformations     

Option A: Applied using formula or programs on the input values 

Option B: Mapping between input and output values  

Option C: Mapping between input and output values in a repository of reference data 

Option D:  Applied using formula or programs based on the output values 

  

Q24.  What is blind source separation 

Option A: Data points with no source 

Option B: Data points with no sink 

Option C: Extraction of original signal from a mixture of signals 

Option D:  From a group of signals building a consolidated mixture of signals 

  

Q25. Feature of ANN in which ANN creates its own organization or representation of 
information it receives during learning time is   

Option A: Adaptive Learning 

Option B: Self Organization 

Option C: What-If Analysis 

Option D:  Supervised Learning 
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Program: BE  Computer Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: (CSDLO6022) and Course Name: Advanced Database Management System  

Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

=============================================================================  

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  The method of access which uses key transformation is known as   

Option A: Direct.   

Option B: Hash.   

Option C: Random  

Option D:  Sequential 

  

Q2. Which two files are used during operation of the DBMS. 

Option A: Query languages and utilities 

Option B: DML and query language 

Option C: Data dictionary and transaction log 

Option D: Data dictionary and query language 

  

Q3. A relational algebra operation annotated with instructions on how to evaluate it is called _______ 

 

Option A: Evaluation algebra 

Option B: Evaluation plan 

Option C: Evaluation primitive 

Option D: Evaluation engine 

  

Q4. A selection of the form satisfying the intersection of all records satisfying individual simple 
conditions is 

Option A: Conjunctive selection 

Option B: Disjunctive selection 

Option C: Negation 

Option D: Natural 

  

Q5. Commit and rollback are related to .......... 

 

Option A: data integrity 

Option B: data consistency 
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Option C: data sharing 

Option D:  data security 

  

Q6. éé.. means that a transaction must make its changes permanent to the database ends. 

Option A: Isolation  

Option B: Locking 

Option C: Durability  

Option D:  Consistency 

  

Q7.  A report generator is used to 

Option A: Update files 

Option B: Print files on paper 

Option C: Data entry 

Option D:  Delete files 

  

Q8.  In the below notation, Employee is of type { ñEmployeeò: [ ñAmyò, ñBobò, 

ñJohnò ] } 

 

Option A: Not a valid JSON string 

Option B: Array 

Option C: Class 

Option D:  Object 

  

Q9. Database: Which is the make given to the database management system 

which is able to handle full text data, image data, audio and video? 

Option A: full media 

Option B: graphics media 

Option C: Multimedia 

Option D:  Hypertext 

  

Q10.  Spatial databasesô are also known as 

Option A: Geo databases 

Option B: Mono databases 

Option C: Concurrent databases 

Option D:  Real time database 

  

Q11.  Attributes  determine any of its subset Rule which states that set of is 

classified as 

Option A: closure rule 

Option B: referential rule 

Option C: reflexive rule 

Option D:  inferential rule 

  

Q12.  A clustering index is defined on the fields which are of type 

Option A: non-key and ordering 

Option B: non-key and non-ordering 
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Option C: key and ordering 

Option D: key and non-ordering 

  

Q13.  In a __________ , we obtain the address of the disk block containing a 

desired record directly by computing a function on the search key value of 

the record 

 

Option A: Hash file organization 

Option B: Hash index organization 

Option C: Hashing address 

Option D:  Hashing Memory 

  

Q14.  If the operations do not wait to produce tuples, then it is called as _________ 

Option A: Demand driven pipeline 

Option B: Producer driven pipeline 

Option C: Query driven pipeline 

Option D:  Linear pipeline 

  

Q15. The total ordering of operations across groups ensures ...........of transactions. 

 

Option A: Serializability 

Option B: Synchronizability 

Option C: Atomicity 

Option D:   Durability 

  

Q16.  Semi-join strategies are techniques for query processing in distributed 

database system. 

Which of the following is a semi-join technique ? 

Option A: Only the joining attributes are sent from one site to another and then all of the 

rows are returned 

Option B: All of the attributes are sent from one site to another and then only the required 

rows are returned 

Option C: Only the joining attributes are sent from one site to another and then only the 

required rows are returned 

Option D:  All of the attributes are sent from one site to another and then only the required 

rows are returned 

  

Q17. Identify the class name for the following code: ABC123 course(); 

Option A: ABC123 

Option B: Course 

Option C: course() 

Option D: 123 

  

Q18. In authorization graph, if DBA provides authorization to u1 which in turn 

gives to u2 which of the following is correct? 

Option A: If DBA revokes authorization from u1 then u2 authorization is also revoked 

Option B: If u1 revokes authorization from u2 then u2 authorization is revoked 
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Option C: If DBA & u1 revokes authorization from u1 then u2 authorization is also revoked 

Option D:  If u2 revokes authorization then u1 authorization is revoked 

  

Q19.  Which of the following hash function classifies data into least number of 

buckets? 
Option A: Sum of digits modulo 8 

Option B: Sum of digits modulo 5 

Option C: Sum of digits modulo 2 

Option D:  Sum of digits 

  

Q20. Reducing the complexity of complex queries by similarly handling sub-

queries is known as ______ 

Option A: Complex query handling 

Option B: Multi query optimization 

Option C: Complex query optimization 

Option D: Parametric query optimization 

  

Q21. In Distr ibuted database, ______________ are the transactions for which a 

<ready T> log is found in the log file, but neither a <commit T> log nor an 

<abort T> log is found. 

Option A: In-doubt transactions 

Option B: Serialized transactions 

Option C: Cascadeless transactions 

Option D:  Distributed transactions 

  

Q22.  Conceptual design 

Option A: Is a documentation technique 

Option B: Needs data volume and processing frequencies to determine the size of the 

database 

Option C: Involves modelling independent of the DBMS 

Option D:  Is designing the relational model 

  

Q23. This set of Database Questions and Answers for Aptitude test focuses on 

ñOrganization of Records in Filesò,If a piece of data is stored in two places in 

the database, then 

Option A: Storage space is wasted 

Option B: Changing the data in one spot will cause data inconsistency 

Option C: In can be more easily accessed 

Option D:  Storage space is wasted & Changing the data in one spot will cause data 

inconsistency 

  

Q24.  _______________ is time based SQL injection attack. 

Option A: Quick detection 

Option B: Initial Exploitation 

Option C: Blind SQL Injection 

Option D:  Inline Comments 
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Q25. Point out the wrong statement. 

Option A: SQL injection vulnerabilities occur whenever input is used in the construction of 

an SQL query without being adequately constrained or sanitized 

Option B: SQL injection allows an attacker to access the SQL servers and execute SQL code 

under the privileges of the user used to connect to the database 

Option C: The use of PL-SQL opens the door to these vulnerabilities 

Option D:  SQL injection allows the client  to execute SQL code 
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Program: BE Computer Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI 

Course Code: CSDLO6023 and Course Name: Enterprise Resource Planning 

Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  Who are the primary users of ERP systems? 

Option A: Sales, marketing, customer service 

Option B: Accounting, finance, logistics, and production 

Option C: Customers, resellers, partners, suppliers, and distributors 

Option D:  Product Developers, Logistics, Marketing 

  

Q2. When ERP system is introduced in a company, many employees find the 
transformation difficult to accept because of which of the two reasons: 
1.  The employees are not given proper training 
2.  Employees who were earlier doing the work of recording information are 
transformed into decision-makers. 
3.  Of fear of unemployment. 
4.  They fear that ERP systems will revolutionalise the way they live and work 

Option A: 1 & 2 

Option B: 3 & 4 

Option C: 2 & 4 

Option D: 1 & 3 

  

Q3. Manufacturing resource planning expanded out of materials requirements 
planning during which decade? 

Option A: 1970s 

Option B: 1980s 

Option C: 1990s 

Option D: 1960s 

  

Q4. The value chain connection between a firm and its customers is called: 

Option A: Inbound logistics 

Option B: Outbound logistics 

Option C: SCM 

Option D: CRM 

  

Q5. In MRP (Materials Requirements Planning) the Bill of Materials is: 

Option A: The sum of stock-on-hand and work-in-progress 
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Option B: The required output from a process over time 

Option C: The product structure showing where common parts are used 

Option D:  The Capacity requirement plan 

  

Q6. Which one of the following is not an ERP implementation strategy: 

Option A: Big bang strategy 

Option B: Phased implementation 

Option C: Half implementation 

Option D:  Parallel implementation 

  

Q7.  In which phase, data conversion is done? 

Option A: Going Live 

Option B: Testing 

Option C: Training 

Option D:  Configuration 

  

Q8.  All basic definitions of information and data modelling will be made in _______ 
phase 

Option A: Pre- implementation 

Option B: Post implementation 

Option C: Defining solutions 

Option D:  Going live 

  

Q9. Which team arranges meetings and documentation during implementation? 

Option A: Work team 

Option B: Administrative support team 

Option C: Project management 

Option D:  Technical support team 

  

Q10.  During ERP implementation, _______ should be converted into tasks and should 
be allocated to the right people 

Option A: Rules  

Option B: Procedure 

Option C: Methodologies 

Option D:  Functionality 

  

Q11.  Which of the following is not the sales & distribution process? 

Option A: Sales order 

Option B: Materials delivery 

Option C: Purchase requisition from production department 

Option D:  Billing  

  

Q12.  Which among the following is a major the sub system of manufacturing module? 

Option A: Cost Management 

Option B: Time Management 

Option C: Personnel Management 
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Option D: Vendor Selection 

  

Q13. Identify the incorrect sub activity in pre-purchasing   

Option A: Requirements calculation 

Option B: Inventory Management 

Option C: Requisition for quotations 

Option D:  Vendor selection 

  

Q14.  Components of a CRM system are:  
1. Users.   
2. Hardware and Operating Systems  
3. CRM Software 
4. Business Processes 

Option A: 3 & 4 

Option B: 1, 2, 3 & 4 

Option C: 2 & 4 

Option D:  1, 2 & 3 

  

Q15. Which of the following is not a benefit of CRM module? 

Option A: By using CRM, all dealings with customer for servicing, marketing, and selling can be 
carried out in an organized and systematic way. This in turn helps in increasing 
customer loyalty and decreasing customer agitation. 

Option B: By using a CRM strategy for any business, the revenue of the company can be increased. 

Option C: By using a CRM strategy for any business, payroll expense can be reduced. 

Option D:  Up-selling and cross-selling can be improved by interacting with the customers and 
getting an idea about their wants, needs, and patterns of purchase. 

  

Q16.  Which warehouse view allows you to view the data from the viewpoint of end-user? 

Option A: The top-down view 

Option B: The data source view 

Option C: The data warehouse view 

Option D:  Business query view 

  

Q17. Which of the following is not a type of Online Analytical Processing (OLAP)? 

Option A: POLAP 

Option B: HOLAP 

Option C: ROLAP 

Option D: MOLAP 

  

Q18. Which of the following is not true about data marts? 

Option A: Data size is very large 

Option B: They are customized by department 

Option C: They are flexible 

Option D:  Contain subsets of data valuable to specific groups in a organization 

  

Q19.  What is a disadvantage of a Data Mart? 
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Option A: The data set is too large hence analysis becomes difficult 

Option B: Its processing is time consuming 

Option C: It is costly 

Option D:  Does not provide company-wide data as their data set is limited 

  

Q20. What are the 3 basic analytical operations in OLAP? 

Option A: Concentration, roll-up, drill-down 

Option B: Roll-up, cubing, concentration 

Option C: Query processing, roll-up, cubing 

Option D: Consolidation (roll-up), drill-down, slicing and dicing 

  

Q21. Open Source ERP is a software system whose 

Option A: Database is open 

Option B: Data is freely available 

Option C: Source code is made publicly available 

Option D:  Is free  

  

Q22.  With respect to data security, what is data erasure? 

Option A: Random deletion of data periodically 

Option B: Data that is no longer active or used should be erased from all systems 

Option C: Deletion of data after backup 

Option D:  Deleting of specific data periodically 

  

Q23. Which of the following is an example of Open source ERP? 

Option A: Microsoft Dynamics NAV 

Option B: Apache OFBix 

Option C: SAP R/3 

Option D:  BAAN 

  

Q24.  Applications can be linked in EAI via 

Option A: Broker Architectures 

Option B: APIs and GUIs 

Option C: Database connections 

Option D:  Business Logic 

  

Q25. What is true about data access policies with respect to ERP security? 

Option A: Providing the right amount of data access to individual users is crucial for data 
protection 

Option B: All employees and stake holders should be given access 

Option C: Only higher authorities should have access 

Option D:  Only the security personnel should have access 
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Program: BE Computer Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: CSDLO6024  and Course Name: Advanced Computer Network 

Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  MPLS stands for 

Option A: Multi-Protocol Label Switching 

Option B: Multiple Parts Label Switching 

Option C: Multiplying Protocol Label Switching 

Option D:  Multi-Protocol Long Switching 

  

Q2. Who defines the Internet architecture? 

 

Option A: IETF 

Option B: IEEE 

Option C: ACM 

Option D: Springer 

  

Q3. In the layer hierarchy as the data packet moves from the upper layer to the lower 

layers, headers are _____ 
Option A: Added 

Option B: Removed 

Option C: Rearranged 

Option D: Modified 

  

Q4. A Physical path over which a message travels are called? 

Option A: Path 

Option B: Medium 

Option C: Protocol 

Option D: Route 

  

Q5. The computation of the shortest path in OSPF is usually done by ____________ 

Option A: Bellman-ford algorithm 

Option B: Routing information protocol 

Option C: Dijkstra’s algorithm 

Option D:  Distance vector routing 

  

Q6. Protocol data unit (PDU) of transport layer is called 



16 | P a g e  
 

Option A: Bit 

Option B: Frame 

Option C: Segment 

Option D:  Packet 

  

Q7.  What is the full form of SONET? 

Option A: Synchronous optical networking 

Option B: Simple Optical Networking 

Option C: Synchronous Optimum networking 

Option D:  Synchronous Optional Net 

  

Q8.  ____________ devices can be connected using straight through cable. 

Option A: switch to switch 

Option B: router to router 

Option C: pc to pc 

Option D:  pc to switch 

  

Q9. Shannon Capacity (Noisy Channel) is calculated using 

Option A: C = B log2 (1 + S/N) 

Option B: C = B log2 (1 - S/N) 

Option C: C = B log2 (1 + N/S) 

Option D:  C = B log2 (S/N) 

  

Q10.  In OSPF, which protocol is used to discover neighbour routers automatically? 

Option A: Link state protocol 

Option B: Error-correction protocol 

Option C: Routing information protocol 

Option D:  Hello protocol 

  

Q11.  IEEE 802.11 is standard for 

Option A: Ethernet 

Option B: Bluetooth 

Option C: Broadband Wireless 

Option D:  Wireless LANs 

  

Q12.  Which of the following layers of the OSI reference model resolve problems of 

damaged or lost or duplicate frames? 
Option A: Data Link Layer 

Option B: Network Layer 

Option C: Session Layer 

Option D: Transport Layer 

  

Q13. The maximum throughput for pure ALOHA is ________ per cent. 

Option A: 13.5 

Option B: 18.4 

Option C: 36.8 
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Option D:  20.5 

  

Q14.  OSPF stands for ____________ 

Option A: Open Shortest Path First 

Option B: Open Shortest Pick First 

Option C: Open Simple Path First 

Option D:  Optimum Shortest Path First 

  

Q15. The size of IPv6 is 

Option A: 124 bits 

Option B: 128 bits 

Option C: 128 bytes 

Option D:  32   bits 

  

Q16.  Find the number of subnets and valid hosts per subnet for IP address with subnet 

mask 200.100.230.140/26. 
Option A: 64 subnets and 4 hosts per subnets 

Option B: 62 subnets and 4 hosts per subnets 

Option C: 4 subnets and 64 hosts per subnets 

Option D:  4 subnets and 62 hosts per subnets 

  

Q17. Which of the following is not a field in routing table? 

Option A: Mask 

Option B: Network address 

Option C: Flags 

Option D: Datagram subnet 

  

Q18. Identify the class of given IP address   252.5.15.111 

Option A: Class A 

Option B: Class B 

Option C: Class D 

Option D:  Class E 

  

Q19.  In UDP there is some loss of datagram because 

Option A: UDP sends each datagram only once 

Option B: The datagram tend to travel along different routes and tend to get lost 

Option C: Network devices give less priority to UDP datagrams 

Option D:  UDP doesn’t have a tracking and re-transmission mechanism 

  

Q20. TCP sequence number field is of 

Option A: 8 bit 

Option B: 16 bit 

Option C: 24 bit 

Option D: 32 bit 

  

Q21. What is the full form of ATM in computer networking 
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Option A: Asynchronous Transfer Mode 

Option B: Automated Teller Machine 

Option C: Asynchronous Teller Mode 

Option D:  Asynchronous Transfer Machine 

  

Q22.  Which of the following are TCP Timers? 

Option A: retransmission, persistence, alive, time-wait 

Option B: retransmission, non persistence, keep alive, time-bound 

Option C: retransmission, persistence, keep alive, time-wait 

Option D:  transmission, consistence, keep alive, time-wait 

  

Q23. DHCP (dynamic host configuration protocol) provides __________ to the client. 

Option A: IP address 

Option B: MAC address 

Option C: URL 

Option D:  Port number 

  

Q24.  ____________protocol is used for pulling messages from a mail server. 

Option A: TCP 

Option B: POP3 

Option C: FTP 

Option D:  TFTP 

  

Q25. DHCP client and servers on the same subnet communicate via _________ 

Option A: UDP broadcast 

Option B: UDP unicast 

Option C: TCP broadcast 

Option D:  TCP unicast 
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Program: BE Mechanical Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: MEDLO6021 and Course Name: Mechatronics 

Time: 1-hour                                                                                                                           Max. Marks: 50 

==============================================================================  

Note to the students: - All the Questions are compulsory and carry equal marks.       

Q1.  Which of the following is not related to Mechatronics? 

Option A: Mechanical 

Option B: Electrical 

Option C: Control Systems 

Option D:  Green Feet 

  

Q2. mechatronics system brings benefits as______________ 

Option A: reduction of rework and reduction in product cost 

Option B: improved customer dis-satisfaction 

Option C: Less Productivity 

Option D: Next generation 

  

Q3. Mechatronics system architecture includes____ 

Option A: uncontrolled system 

Option B: controlled system 

Option C: controlling system 

Option D: controlled and controlling system 

  

Q4. When deriving the transfer function of a linear element 

Option A: Both initial conditions and loading are taken into account 

Option B: Initial conditions are taken into account but the element is assumed to be not 
loaded 

Option C: Initial conditions are assumed to be zero but loading is taken into account 

Option D: Initial conditions are assumed to be zero and the element is assumed to be not 
loaded 

  

Q5. Differentiation of parabolic response is a -------------- response? 

Option A: Parabolic   

Option B: Ramp   

Option C: Step    

Option D: Impulse 

  

Q6. WORD is 
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Option A: 4 

Option B: 2 

Option C: 16 

Option D:  32 

  

Q7.  BIT is 

Option A: 0 

Option B: 01 

Option C: 10 

Option D:  11 

  

Q8.  BYTE is 

Option A: 4 

Option B: 2 

Option C: 8 

Option D:  32 

  

Q9. SET bit is used 

Option A: to set output high 

Option B: to set output low 

Option C: to set input high 

Option D:  to set input low 

  

Q10.  RUNG in ladder represents 

Option A: output 

Option B: rule 

Option C: input 

Option D:  logic 

  

Q11.   The lubricator in a pneumatic circuit is the: 

Option A: First element in line 

Option B: Second element in line 

Option C: Last element in line 

Option D:  Third element in line 

  

Q12.   5/2-way single solenoid valve has: 

Option A: 2 ports 2 positions 

Option B: 5 ports 2 positions 

Option C: 5 ports 5 positions 

Option D: 2 ports 5 positions 

  

Q13. The control system design specification for a chemical process is described as 
short settling time, improved damping and zero steady state error. What control 
do we choose? 

Option A: P     

Option B: PI   



21 | P a g e  
 

Option C: ID   

Option D:  PID 

  

Q14.  Out of the following ADC which one does not use clock signal? 

Option A: Flash ADC 

Option B: Counter comparator ADC 

Option C: Double ramp ADC 

Option D:  Successive approximation ADC 

  

Q15. The unit which is responsible for converting the data received from the user into 
computer understandable format is 

Option A: Memory Unit 

Option B: Arithmetic & Logic Unit 

Option C: Input Unit 

Option D:  Output Unit 

  

Q16.  The most common hydraulic fluid is: 

Option A: Mineral oil 

Option B: Synthetic fluid 

Option C: Water 

Option D:  Gel 

  

Q17. Following acts as detector in Optical sensor 

Option A: Light emitting diode 

Option B: Photo diode    

Option C: Transistor 

Option D: Magnet 

  

Q18. Sensors are also classified as analog or digital based on the type of 

Option A: output signal      

Option B: input signal      

Option C: shape 

Option D:  size 

  

Q19.  It is the time required to come to an output value within the specified error 
level. 

Option A: Response Time    

Option B: Rise Time    

Option C: Settling time    

Option D:  Peak time 

  

Q20. For Nyquist contour, the size of radius is _______ 

Option A: 25 

Option B: 0 

Option C: 1 
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Option D: ∞ 

  

Q21. The presence off the derivative control mode introduces__________ with 
strong_______ in the closed loop response. 

Option A: Phase lag and destabilizing effect 

Option B: Phase lead and destabilizing effect 

Option C: Phase lag and stabilizing effect  

Option D:  Phase lead and stabilizing effect 

  

Q22.  Consider a system with transfer function. Its damping ratio will be 0.5 when the 
values of k is: 

'Ó
Ó φ

Ὧί ί φ
 

Option A: 2/6                         

Option B: 3    

Option C: 1/ 6                                  

Option D:  6 

  

Q23. The damping ratio and peak overshoot are measures of: 

Option A: Relative stability                                                   

Option B: Absolute stability   

Option C: Steady state error                                                

Option D:  Speed of response              

  

Q24.  Which of the following transfer function will have the greatest maximum 
overshoot? 

Option A:                  

Option B:                      

Option C:              

Option D:  ω

ί ςί τω
 

  

Q25. Consider the assertions related to block diagram. Which among them represents 
the precise condition? 
A. Block diagram is used for analysis & design of control system. 
B. Block diagram also provides the information regarding the physical 
construction of the system. 

Option A: A is true, B is false 

Option B: A is false, B is true 

Option C: Both A & B are true 

Option D:  Both A & B are false 
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Program: TE Mechanical Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: MEDLO6023 and Course Name: Industrial Automation 

Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

 

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  Enterprise resource and planning is which phase of automation migration 

strategy?  

Option A: Zero th phase 

Option B: First phase 

Option C: Second phase 

Option D:  Third phase 

  

Q2. On -line inspection is useful in order to 

Option A: delay the operations  

Option B: Avoid production loss 

Option C: Increase production cost 

Option D: Decrease the rate of production 

  

Q3. CIM stands for 

Option A: Computer Interference Machine 

Option B: Computer Induced Machine  

Option C: Computer Integrated Manufacturing 

Option D: Computer Input manufacturing 

  

Q4. Automated integrated production is a part of  

Option A:  USA principles 

Option B:  Control principles 

Option C: Automation migration strategy 

Option D: Conversion strategy 

  

Q5. Plant operation control is  

Option A: 1st USA principle 

Option B: 3rd USA principle 

Option C: 4th USA principle 

Option D:  7th USA principle 

  

Q6. When goods are not moving or being processed in any way 
Option A: waiting 
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Option B: Production 

Option C: transportation 

Option D:  Mechanisation 

  
Q7.  Which materials-processing technology gives the advantage of precision, 

accuracy and optimum use of cutting tools, which maximise their life and higher 

labour productivity? 
Option A: Industrial robots 
Option B: Computer-integrated manufacturing (CIM) 
Option C: NC (and CNC) machine tools 
Option D:  Flexible manufacturing systems (FMS) 
  
Q8.  Using computers to operate and control machines and processes to manufacture 

a product. 
Option A: Computer Aided Manufacturing 
Option B: Computer Integrated Manufacturing 
Option C: Flexible Manufacturing System 
Option D:  Interface 
  
Q9. In which cases sequence of operation is fixed by equipment configuration 
Option A: Fixed 

Option B: programmable 

Option C: hard 

Option D:  flexible 

  
Q10.  Which of the following statements is true? 

Option A: Meter-in feed circuits have speed control in two directions 

Option B: Standard block feed circuits have speed control in two directions 

Option C: Meter-out feed circuits have speed control in two directions 

Option D:  Tank line feed control systems have speed control only in one direction 

  

Q11.  Which of the following is a gas charged accumulator? 
 

Option A: bladder type 
Option B: spring loaded accumulator 
Option C: weighted accumulator 
Option D:  Residulal type 
  

Q12.  Give significance of every digit used to denote a flow control valve 2.03 

A. 3 denotes the forward movement 

B. 3 denotes the backward movement 

C. 2 denotes the cylinder number 

D. 2 denotes the flow control valve number 
Option A: B and D 
Option B: A and C 
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Option C: A and D 
Option D: B and C 
  

Q13. How is pressure of fluid under piston calculated in a weighted accumulator? 

Option A: pressure of fluid = (weight added / piston area) 

Option B: pressure of fluid = (piston area / weight added) 

Option C: pressure of fluid = (weight added / piston force) 

Option D:  pressure of fluid = (piston force / weight added) 

  

Q14.  U-Tube manometer measures ----------  

Option A: temperature 

Option B: pressure  

Option C:  acceleration 

Option D:  speed 

  

Q15. Which of the following is Negative Temperature Coefficient (NTC) temperature 

sensor? 
Option A: thermistor 

Option B: thermocouple 

Option C: RTD 

Option D:  fibre optic 

  

Q16.  Which of the following is not a stepper motor? 

Option A: permanent magnet stepper motor 

Option B: variable reluctance stepper motor 

Option C: hybrid synchronous stepper motor 

Option D:  squirrel cage stepper motor 

  

Q17.  óPICô stands for ----------.  

Option A: Programmable Interface Controller 

Option B: Peripheral Interface Controller 

Option C: Portable Interface Controller 

Option D: Programmable Interface Counter 

  

Q18. ---------- logic is INVERTER logic 

Option A: OR 

Option B: AND 

Option C: NOT 

Option D:  NAND 

  

Q19.  The Boolean algebra notation Y = X1*X2 is obtained by ---------- 

Option A: OR 

Option B: AND 

Option C: NOT 

Option D:  NAND 

  

Q20.  ---------- is a tabulation of all the combinations of input values to the 

corresponding output values. 
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Option A: truth table 

Option B: classical table 

Option C: truth column 

Option D: input out table 

  

Q21. The ---------- is usually detachable from the PLC cabinet so that it can be shared 

among different controllers. 

Option A: input/output module 

Option B: memory unit 

Option C: processor 

Option D:  programming device 

  

Q22.  Measurement which  is close to true value is 
Option A:  Accurate 
Option B:  Precise 
Option C:  average 
Option D:   actual 
  

Q23. The Robot designed with cylindrical coordinate systems has 

Option A:  Three linear movements 

Option B:  Three rotational movements 

Option C:  Two linear and one rotational movement 

Option D:   Two rotational and one linear movement 

  

Q24.  Which  drive is used for lighter class of robot 
Option A: Pneumatic 
Option B: Hydraulic  
Option C:  Electric  
Option D:  Mechanical 
  

Q25. Radial movement (in & out) to the manipulator arm is provided by 

Option A: Elbow extension 

Option B: Wrist bend 

Option C: Wrist swivel 

Option D:  Wrist yaw 
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Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: ECCDLO 6021 and Course Name: Digital VLSI Design 

Time: 1hour                                                                                                                           Max. Marks: 50 

==============================================================================  

=============================================================================  

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  In pull-up network, PMOS transistors of CMOS are connected in parallel with the 

provision of conducting path between output node & VDD yielding _____ output. 

Option A: 1 

Option B: 0 

Option C: Z 

Option D:  No output 

  

Q2. The full form of HDL 

Option A: Higher Descriptive Language 

Option B: Higher Definition Language 

Option C: Hardware Descriptive Language 

Option D: High Descriptive Language 

  

Q3. The switching threshold voltage VTH for an ideal inverter is equal to 

Option A: (VDD-VOL)/2 

Option B: VDD 

Option C: VDD/2 

Option D: 0 

  

Q4. If A is the number of inputs, B is the total number of unique product terms and C is 

the number of outputs the size of the PLA is 

Option A: A*B+C 

Option B: A*B*C  

Option C: A+B*C 

Option D: A+B+C 

  

Q5. The CMOS logic circuit for 2 input NOR gate is: 
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Option A: 

 
Option B: 

 
Option C: 

 
Option D:  

 
  

Q6. Which of the following VHDL design units contain the description of the circuit? 

Option A: Configuration 

Option B: Architecture 

Option C: Library 

Option D:  Entity 

  

Q7.  An active HIGH input S-R latch is formed by cross coupling of 

Option A: Two NOR gates 

Option B: Two NAND gates 

Option C: Two OR gates 

Option D:  Two AND gates 

  

Q8.  What would happen, if smaller logic modules are utilized for performing logical 

https://www.sanfoundry.com/wp-content/uploads/2017/05/vlsi-questions-answers-cmos-logic-gates-q9a.png
https://www.sanfoundry.com/wp-content/uploads/2017/05/vlsi-questions-answers-cmos-logic-gates-q9b.png
https://www.sanfoundry.com/wp-content/uploads/2017/05/vlsi-questions-answers-cmos-logic-gates-q9c.png
https://www.sanfoundry.com/wp-content/uploads/2017/05/vlsi-questions-answers-cmos-logic-gates-q9d.png
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functions associated with FPGA? 

(i) Propagation Delay will increase   

(ii)  FPGA area will increase 

(iii)  Number of interconnected paths in device will decrease 

Option A: i,ii  

Option B: i, iii  

Option C: ii , iii  

Option D:  i,ii,iii  

  

Q9. The inputs (P1, P2) for both the latches are first made (0,1) and then, after a few 

seconds, made (1,1). The corresponding stable outputs (Q1,Q2) are 

 
Option A: NAND: first (0,1) then (0,1)   NOR: first (1,0) then (0,0) 

Option B: NAND: first (1,0) then (1,0)   NOR: first (1,0) then (1,0) 

Option C: NAND: first (1,0) then (1,0)   NOR: first (1,0) then (0,0) 

Option D:  NAND: first (1,0) then (1,1)   NOR: first (0,1) then (0,1) 

  

Q10.  Which flip-flop is usually used in the implementation of the registers? 

Option A: D flip-flop 

Option B:  S-R flip-flop 

Option C: T flip-flop 

Option D:  J-K flip -flop 

  

Q11.  The transistors in NAND type flash are connected in 

Option A: Series 

Option B: Parallel 

Option C: Cascade 

Option D:  randomly 

  

Q12.  Finite state machines are used for 

Option A: deterministic test patterns 

Option B: algorithmic test patterns 

Option C: random test patterns 

Option D: pseudo random test patterns 

  

Q13. Which of the following is the main factor which determines the memory capacity? 

Option A: number of transistors 

Option B: number of capacitors 

Option C: size of the transistor 

Option D:  size of the capacitor 
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Q14.  Which operations An FSM can perform? 

Option A: Data addition 

Option B: Boolean Operation 

Option C: Data Subtraction 

Option D:  8 bit data Operation 

  

Q15. When word line is selected and circuit voltage raised to supply voltage, access 

transistor will 

Option A: breakdown 

Option B: OFF 

Option C: ON 

Option D:  Have a mid voltage 

  

Q16.  FIR filter implementation is faster using _____________ 

Option A: Hardware circuit Only. 

Option B: Software only. 

Option C: Combination of Hardware and Software. 

Option D:  Solid state relay. 

  

Q17. Floating gate transistor in flash memory has 

Option A: two gates 

Option B: one gate 

Option C: two sources 

Option D: two drains 

  

Q18. What is the advantage of carry look ahead adder? 

Option A: Propagation delay  & time to perform addition logic is reduced 

Option B: Propagation delay  & time to perform addition logic is increased 

Option C: No. of Hardware and cost is increased 

Option D:  No. of Hardware and cost is reduced 

  

Q19.  When the clock and the data path are in the same direction   

Option A: Negative Skew is observed 

Option B: Positive Skew is observed 

Option C: No Skew is observed  

Option D:  Both positive as well as Negative skew are possible depending on the delay of the 

input signal  

  

Q20. Which adder reduces the number of operands to be added from 3 to 2 without carry 

propagation 

Option A: Carry skip adder 

Option B: Carry save adder 

Option C: Carry select adder 

Option D: Carry look-ahead adder 

  

Q21. For an edge triggered clock, the sampling of a data is done at ______. 
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Option A: Rising edge 

Option B: Falling edge 

Option C: Both Rising and Falling edge 

Option D:  During Ton 

  

Q22.  If A, B and C are the inputs of a full adder then the carry is given by _________ 

Option A: A AND B OR (A OR B) AND C 

Option B: A OR B OR (A AND B) C 

Option C: (A AND B) OR (A AND B)C 

Option D:  A XOR B XOR (A XOR B) AND C 

  

Q23. ESD protection network usually consists of ______. 

Option A: Resistor-Capacitor structure 

Option B: Resistor-BJT structure 

Option C: Resistor-Diode structure 

Option D:  Capacitor-Diode structure 

  

Q24.  What is ripple carry adder? 

Option A: The carry output of the lower order stage is connected to the carry input of the next 

higher order stage 

Option B: The carry input of the lower order stage is connected to the carry output of the next 

higher order stage 

Option C: The carry output of the higher order stage is connected to the carry input of the next 

lower order stage 

Option D:  The carry input of the higher order stage is connected to the carry output of the lower 

order stage 

  

Q25. Interconnect can be modeled in terms of _______. 

Option A: Resistance and Capacitance 

Option B: Resistance and Inductance 

Option C: Inductance and Capacitance 

Option D:  Diode and Capacitance 
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Course Code: ECCDLO6022 and Course Name: Radar Engineering 

Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

  

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  Radar is used for : 

Option A: weather forecast only 

Option B: Ground mapping only 

Option C: airport surveillance only 

Option D:  ground mapping, airport surveillance and weather forecast 

  

Q2. Radar receiver power depend on 

Option A: medium losses 

Option B: medium, transmitter and polarization losses  

Option C:  transmitter losses 

Option D: Polarization losses 

  

Q3. Pulse repetition interval is : 

Option A: PW + PI 

Option B: PW ï PI 

Option C: PW x PRF 

Option D:  PW / PRF 

  

Q4. Clutter is  

Option A:  a target 

Option B:  a desired echo 

Option C:  unwanted echo 

Option D:  a radar beam 

  

Q5. The IF band of radar receiver is inversely proportional to the 

Option A: Pulse Width 

Option B: Pulse repetition frequency 

Option C: Pulse interval 

Option D:  Square root of the peak transmitted power 

  

Q6. If the return echo arrives after the allocated pulse interval 
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Option A: It will interfere with the operation of the  transmitter 

Option B: The receiver might be overloaded 

Option C: It will not be received 

Option D:  The target will appear closer than it really is 

  

Q7.  A tracking-radar system is used to determine the  

Option A: Gain of radar tracking antenna 

Option B:  bandwidth of antenna 

Option C: target path and to predict its future position. 

Option D:  Distance between target and radar. 

  

Q8.  One method of obtaining the direction and the magnitude of the angular error in 

one coordinate is by alternately switching the antenna beam between two 

positions known as 
Option A: tracking 

Option B: Velocity modulation 

Option C: sequential lobing   

Option D:  Random lobing 

  

Q9. What is the Space between the two cavities in Klystron known as?  

Option A: Free Space  

Option B: Repeller Space 

Option C: Empty Space 

Option D:  Drift Space 

  

Q10.  Why TWT is sometimes preferred to magnetron for the use of RADAR 

transmitter. 
Option A: Has broader band  

Option B: Less Noisy  

Option C: More Efficient Amplifier  

Option D:  Capable of Large duty cycle 

  

Q11.    The A scope displays 

Option A: the target position and range 

Option B:  the target range, but not position 

Option C: the target position 

Option D:  neither range nor position 

  

Q12.  Radar S band is 

Option A: 4Ghz-8Ghz 

Option B: 2Ghz-4Ghz 

Option C: 8Ghz-12Ghz 

Option D: 12Ghz-18Ghz 

  

Q13. If the peak transmitted power in a radar system is increased by a factor of 16, the 

maximum range will  be increased by a factor 
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Option A: 2 

Option B: 4 

Option C: 8 

Option D:  16 

  

Q14.  The Doppler effect is used in (choose the False statement) 

Option A: Moving target plotting of the PPI 

Option B: MTI system 

Option C: FM radar 

Option D:  CW radar 

  

Q15. In the low-angle tracking system, if  radar antenna height is 3m,  target height is 

100m, and  range to the target is 100km,  the range-resolution required to separate 

the direct from the ground-reflected signal is 

 

Option A: 0.6m 

Option B: 0.3m 

Option C: 0.2m 

Option D:  0.1m 

 

  

Q16.  In a Two Cavity Klystron if the Beam voltage is 1 KV then find the Electron 

velocity?  
Option A: 16.75 x 10

6 
 m/s 

Option B: 19.75 x 10
6 
 m/s 

Option C: 18.75 x 10
6 
 m/s 

Option D:  20.75 x 10
6 
 m/s 

  

Q17. A high noise figure in a receiver means 

Option A: poor minimum detectable signal 

Option B: good detectable signal 

Option C: receiver bandwidth is reduced 

Option D: high power loss 

  

Q18. 40 GHz 300GHz band is used in: 

Option A:  satellites 

Option B:  radar experiments 

Option C:  police radios 

Option D:   televisions 

  

Q19.  Three dimension radar  detects 

Option A: altitude,range ,baring 

Option B: range ,baring,elevation 

Option C: elevation,altitude,range 

Option D:  elvation ,azumith,range 
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Q20. The lowest 'blind speed' of a radar erating at 6 GHz with a PRF of 1000 pps is ? 

 m/s 
Option A: 6000 

Option B: 50 

Option C: 166.7 

Option D: 100 

  

Q21. The duty cycle in a pulses radar transmitter cannot be increased beyond a point 

because it 
Option A: affects the operating frequency 

Option B: increase the average power of the transmitter tube 

Option C: does not detect peak signals 

Option D:  Affect the Doppler frequency 

  

Q22.  Which of the following is the most basic tracking system? 

Option A: Track while scan 

Option B: Single target tracker 

Option C: Servo tracking system 

Option D:  None of the above 

  

Q23. Most of weather radar used 

Option A: linear polarization 

Option B: circular polarization 

Option C: horizontal polarization 

Option D:  vertical polarization 

  

Q24.  A radar operate with PRF of 1.2Khz,pulse interval is 0.6 microsecond . find  PRT 

and PW.  
Option A: PRT=0.833ms ,PW=0.233ms 

Option B: PRT=0.233ms , PW=0.833ms  

Option C: PRT=0.338ms,PW=0.332ms 

Option D:  PRT=0.332ms,PW=0.383ms 

  

Q25. Which of the following tracking technique derive angle error information on the 

basis of single pulse? 
Option A: lobe switching  

Option B: sequential lobing  

Option C: conical scanning  

Option D:  monopulse  
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=============================================================================  

Note to the students:- All Questions are compulsory and carry equal marks .       

Q1.  Which of the following is an example of a DBMS application?  

Option A: Python IDLE 

Option B: Visual Studio 

Option C: MySQL 

Option D:  Notepad 

  

Q2. Which normal form is lower than 2NF? 

Option A: 1NF 

Option B: 3NF 

Option C: BCNF 

Option D: 5NF 

  

Q3. In DBMS, the term which is used to represent the real world concept 

or object is classified as  

Option A: Entity 

Option B: Attribute 

Option C: Relationship 

Option D: Abstraction 

  

Q4. Consider two relations course(course-id (primary key), title, credits) 

and section(sec-id (partial key), semester, year), where section is the 

weak entity dependent on course. What will be the primary key of 

section? 

Option A: sec-id 

Option B: course-id 

Option C: course-id, sec-id 
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Option D: sec-id, semester, year 

  

Q5. Which command is useful in SQL to delete a view? 

Option A: DELETE VIEW 

Option B: REMOVE VIEW 

Option C: DROP VIEW 

Option D:  VIEW 

  

Q6. What are the logical structure and actual content of the database 

known as?  

Option A: Logic, Value 

Option B: Schema, Instance 

Option C: Value, Logic 

Option D:  Instance, Schema 

  

Q7.  Which of the following is true? 

Option A: A relation in BCNF is always in 3NF 

Option B: A relation in 3NF is always in BCNF 

Option C: BCNF and 3NF are same 

Option D:  A relation in BCNF is not in 3NF 

  

Q8.  The _______ property requires that we can execute the transaction to 

completion. 

Option A: Isolation  

Option B: Atomicity 

Option C: Consistency 

Option D:  Durability 

  

Q9. Which of the following function returns the number of rows that 

matches a specified criterion? 

Option A: COUNT() 

Option B: SUM() 

Option C: AVG() 

Option D:  MIN()  

  

Q10.  Which of the following is not a level of data abstraction?  

Option A: Physical Level 

Option B: Critical Level 

Option C: Logical Level 

Option D:  View Level 

  

Q11.  When the transaction Ti requests a data item currently held by Tj, Ti is 
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allowed to wait only if it has a timestamp smaller than that of Tj (that 

is, Ti is older than Tj). Otherwise, Ti is rolled back (dies). What is this 

scheme known as? 

Option A: Wait-die 

Option B: Wait-wound 

Option C: Wound-wait 

Option D:  Wait 

  

Q12.  Which of the following is not a limitation of view? 

Option A: ORDER BY Does Not Work 

Option B: Index Created on View Used Often 

Option C: Cross Database Queries Not Allowed in Indexed View 

Option D: Adding Column is Expensive by Joining Table Outside View 

  

Q13. Which of the following is not a valid data model?   

Option A: ER model 

Option B: Hierarchical model 

Option C: Relational model 

Option D:  OSI model 

  

Q14.  A table has fields F1, F2, F3, F4, and F5, with the following FDs {F1 

=> F3, F2 => F4, (F1, F2) => F5}. In terms of normalization, this 

table is in 

Option A: 1NF 

Option B: 2NF 

Option C: 3NF 

Option D:  BCNF 

  

Q15. Suppose a bank wants to make a view consisting of the names of 

customers having loan in the ôMUMBAIô branch with the loan amount 

being more than 50000 but less than 70000. Identify the correct query 

from the following. Primary keys are mentioned in the 

schemas. loan(loan-number (primary), branch-name, amount); 

borrower(customer-name (primary), loan-number) 

Option A: CREATE VIEW v1 AS SELECT customer-name FROM loan, 

borrower WHERE branch-name = ôMUMBAIô AND loan.loan-

number = borrower.loan-number AND amount > 50000 AND 

amount < 70000;  

Option B: CREATE VIEW v1 AS SELECT customer-name FROM loan 

WHERE branch-name = ôMUMBAIô AND amount > 50000 AND 

amount < 70000;  

Option C: CREATE VIEW v1 AS SELECT customer-name FROM loan, 
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borrower WHERE branch-name = ôMUMBAIô, loan.loan-number = 

borrower.loan-number AND amount BETWEEN 50000 AND 

70000;  

Option D:  CREATE VIEW v1 AS SELECT customer-name FROM loan, 

borrower WHERE branch-name = ôMUMBAIô AND amount > 

50000, amount < 70000; 

  

Q16.  The function of Select operation is 

Option A: To fetch rows (tuples) from table (relation) which does not satisfies a 

given condition. 

Option B: To fetch rows (tuples) from table (relation) which satisfies a given 

condition. 

Option C: To fetch rows (tuples) from table (relation) which satisfies both given 

conditions. 

Option D:  To fetch attributes from table (relation) which satisfies a given 

condition. 

  

Q17. Which of the following is a unary operation? 

Option A: Selection operation 

Option B: Primitive operation 

Option C: Projection operation 

Option D: Generalized selection 

  

Q18. The single relational algebra expression can be used in sequence of 

operations by 

Option A: nesting entities 

Option B: nesting the attribute 

Option C: nesting the operations 

Option D:  nesting the elements 

  

Q19.  What does the dashed ellipse represent in the entity-relationship 

diagram? 

Option A: primary key attribute 

Option B: multi-valued attribute 

Option C: derived attribute 

Option D:  composite attribute 

  

Q20. Which SQL keyword is used to retrieve a maximum value? 

Option A: MOST 

Option B: TOP 

Option C: MAX  

Option D: MIN 
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Q21. In precedence of set operators, the expression is evaluated from 

Option A: Left to left 

Option B: Left to right 

Option C: Right to left 

Option D:  From user specification 

  

Q22.  Which of the following problem occurs when transaction T reads the 

same item twice and the item is changed by another transaction Tô 

between the two reads? 

Option A: Last update problem 

Option B: Temporary update problem 

Option C: Incorrect summary problem 

Option D:  Unrepeatable read problem 

  

Q23. For correct behavior during recovery, undo and redo operations must 

be 

Option A: Commutative 

Option B: Associative 

Option C: Idempotent 

Option D:  Distributive 

  

Q24.  Which of the following recovery scheme does not require the use of 

log in the single user environment? 

Option A: Shadow paging 

Option B: The Aries Recovery algorithm 

Option C: Multi database transaction 

Option D:  The two phase commit protocol 

  

Q25. The function of Set-difference operation is 

Option A: To find data present in one relation and present in the second relation. 

Option B: To find data present in two relations and present in the second 

relation. 

Option C: To find data present in three relations and not present in the second 

relation. 

Option D:  To find data present in one relation and not present in the second 

relation. 
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Program: BE Information Technology  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: ITDLO6021 and Course Name: Advance Internet Programming (AIP) 

Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

 

Note to the students:- All the Questions are compulsory and carry equal marks .       

 

Q1.  Using SEO for swaying public opinion about a topic is an example of 

Option A: SEO for branding 

Option B: SEO for raw traffic 

Option C: SEO for ideological influence 

Option D:  SEO for reputation management 

  

Q2. The objectives for web analytics are likely to concern: 

Option A: Facebook messages 

Option B: Personal Blog activity 

Option C: Social Media ROI 

Option D: Measurement of web site performance 

  

Q3. Which of the following could be a strength in a typical business SWOT analysis? 

Option A: Weather 

Option B: A new international market 

Option C: A price that is too high 

Option D: Industry expertise 

  

Q4. Which of the following is the odd one out? 

Option A: Share of conversation 

Option B: Bounce rate 

Option C: Impressions 

Option D: Visitors 

  

Q5. A file containing web service description is called: 

Option A: Web service file 

Option B: WSDL 

Option C: SOAP 

Option D:  UDDI 

  

Q6. Which of following statement is false about the space parameter in 

JSON.stringify()? 
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Option A: It controls spacing in the resulting JSON string 

Option B:  It is an optional parameter 

Option C:  It removes whitespace 

Option D:   It is convert object to sting  

  

Q7.  Brand names and identity advertising are methods that advertisers use to 

encourage 

consumers to 
Option A: Reach their demographic potential 

Option B: Perceive hidden messages 

Option C: Make distinctions among products that are actually very similar 

Option D:  Satisfy subconscious motivations 

  

Q8.  Which of the following are controls of Ajax except ? 

Option A: ScriptManager 

Option B: UpdateData 

Option C: ScriptManagerProxy 

Option D:  UpdatePanel 

  

Q9. Which of the following is not an element of website audit? 

Option A: Mobile-friendliness 

Option B: Usability 

Option C: Search engine health checks 

Option D:  Use of OWL 

  

Q10.  Which of these is not an important syntax rule of SOAP ? 

Option A: A SOAP message MUST be encoded using XML 

Option B: A SOAP message must NOT contain a RDF reference 

Option C: A SOAP message MUST use the SOAP Envelope namespace 

Option D:  A SOAP message must NOT contain a DTD reference 

  

Q11.  Which one of the following is a good example of direct advertising? 

Option A: Display cards 

Option B: A brochure 

Option C: Display panels on vehicles 

Option D:  Window display 

  

Q12.  The acronym of RDFS is 

Option A: Resource Data Framework Schema 

Option B: Resource Data Framework System 

Option C: Resource Definition Framework System 

Option D: Resource Definition Framework Schema 

  

Q13. When you have multiple-pages targeting the same keywords on a domain, which 

of the following is the best way to avoid keyword cannibalization? 
Option A: Remove the duplicate keywords from the Meta Keywords tag on the less 
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important pages 
Option B: Restrict search engine from crawling/indexing any of the less important pages 

Option C: Increase the keyword density on the most important page to be greater than that 

of the other pages 
Option D:  Place links on all the secondary pages back to the page you most want ranking for 

the term/phrase using the primary keywords as the anchor text of those links 
  

Q14.  A set of constructors such as owl:oneOf, owl:disjointWith, owl:complementOf, 

owl:unionOf, and owl:hasValue cannot used in 
Option A: OWL DL 

Option B: OWL Lite 

Option C: OWL Full 

Option D:  OWL Partial 

  

Q15. Which of the following is an OASIS standard allowing two systems to reliably 

exchange SOAP messages with each other? 
Option A: OASIS OSI 

Option B: OASIS SOAP 

Option C: WS-RM 

Option D:  WS-TCPIP 

  

Q16.  An activity to surf and extract structured information from unstructured 

information is called 
Option A: Viewing information 

Option B: Extracting information 

Option C: Uncovering information 

Option D:  Maintaining information 

  

Q17. SEO is to improve the volume and ___________ to a web site from search 

engines. 
Option A: Advertisement 

Option B: Quality of traffic 

Option C: Look and feel 

Option D: Quantity of traffic 

  

Q18. Which of the following is a human resource input to the organisational resource 

conversion chart? 
Option A: Contractors 

Option B: Components 

Option C: Customers 

Option D:  Control systems 

  

Q19.  Which of the following could be a weakness in a typical business SWOT 

analysis? 
Option A: A developing market such as the Internet 

Option B: Competitors with access to better channels of distribution 

Option C: Poor use of WordPress 
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Option D:  Special marketing expertise 

  

Q20. RDF is 

Option A: language-independent 

Option B: domain-independent 

Option C: syntax-independent 

Option D: logic-independent 

  

Q21. What aspects of a hyperlink are not important for SEO? 

Option A: The visibility of the link text 

Option B: The place to which the link leads 

Option C: The anchor text, especially the keywords in it. 

Option D:  The place from which the link originates. 

  

Q22.  Which of these is a valid statement of RDF ? 

Option A: “http://www.academictutorials.com/RDF is Jan Egil Refsnes" 

Option B: "The author of http://www.academictutorials.com/RDF" 

Option C: "The author of http://www.academictutorials.com/RDF is Jan Egil Refsnes" 

Option D:  "http://www.academictutorials.com/RDF" 

  

Q23. RDF ______ are used to describe group of things. 

 

Option A: values 

Option B: attributes 

Option C: containers 

Option D:  modules 

  

Q24.  In RDF ,A is an object of a class A, and A is a subclass of B, then by inference 

rule a is an object of B. This is called 
Option A: Class membership 

Option B: Equivalence of Classes 

Option C: Consistency 

Option D:  Classification 

  

Q25. RDF Schema does not provide actual application-specific 

Option A: objects and properties 

Option B: classes and properties 

Option C: functions and properties 

Option D:  files and properties 
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Program: BE Information Technology Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: ITDLO6022 and Course Name: Software Architecture 

 

Time: 1 hour                                                                                                                           Max. Marks: 50 

Note to the students:- All the Questions are compulsory and carry equal marks .       

Q1.  An architectural configuration that sets a specific association in a software 

systemôs architecture is also known as  

Option A: Event 

Option B: Task 

Option C: Test 

Option D:  Topology 

  

Q2. If operational database fails and it takes one hour to detect database failure and 

recover, which of the following quality attribute is lacking in the system 

Option A: Modifiability  

Option B: Maintainability 

Option C: Portability 

Option D: Availability 

  

Q3. A ______provides a higher-level semantic view on top of primitive processing, 

data, and connecting elements 

Option A: manager 

Option B: controller 

Option C: link 

Option D: data element 

  

Q4. Remote procedure call architecture is the example of which architecture 
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mentioned below 

Option A: Pipe line architecture 

Option B: Layered Architecture 

Option C: Call and Return architecture 

Option D: Virtual machine architecture 

  

Q5. The term ________refers to the discontinuity between a thing being modeled 

and the model's own representation of that thing 

Option A: semantic gap 

Option B: syntax gap 

Option C: module gap 

Option D:  language gap 

  

Q6. Process view in architectural design can be depicted by 

Option A: Sequence diagram 

Option B: Deployment diagram. 

Option C: Class diagram 

Option D:  Activity diagram 

  

Q7.  Which can affect the mean-time-to-repair (MTTR)? 

Option A: Recovery 

Option B: Self-monitoring 

Option C: Instrumenting 

Option D:  Process monitoring 

  

Q8.  -------- a property that affects more than one attribute and is a sensitivity point for 

more than one attribute. 

Option A: Sensitivity Point 

Option B: Negation Point 
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Option C: Tradeoff Point 

Option D:  Forward Point 

  

Q9. Major artifacts of the software design process include 

Option A: Software cost 

Option B: Low-Level Design 

Option C: Software requirements specification, High-level Design, Detailed Design 

Option D:  Software version 

  

Q10.  SAAM concentrates on 

Option A: Artifacts 

Option B: Model 

Option C: Modifiability  

Option D:  Structure 

  

Q11.  ________ diagram models object interaction 

Option A: Sequence 

Option B: Component 

Option C: Use case 

Option D:  Data flow 

  

Q12.  ____is the operation of separating a set of design tasks as represented in a DSM 

into multiple groups 

Option A: Splitting 

Option B: Joining 

Option C: Peering 

Option D: Zipping 

  

Q13. _____ can improve adaptability of modules 
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Option A: Restriction 

Option B: Specialization 

Option C: Abstraction 

Option D:  Implementation 

  

Q14.  Which from following is not true about role of model? 

Option A: Models are a primary means of communication between all stakeholders 

Option B: Models provide guidelines for software developers to implement the system. 

Option C: Models cannot assist in making design decisions and assessing them. 

Option D:  Models can be reusable artifacts for future development 

  

Q15. MVC pattern in software architecture is _____ 

Option A: model-view-controller 

Option B: module-view controller 

Option C: model-view-creation 

Option D:  machine-view-controller 

  

Q16.  Architecture description languages, or ADL is______ 

Option A: Low level language 

Option B: High level language 

Option C: Middle level language 

Option D:  Machine level 

  

Q17. ___________is the operation of separating distinct functionality into distinct 

components that have well-defined interfaces 

Option A: Decomposition 

Option B: Replication 

Option C: Composition 

Option D: Compression 
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Q18. The UML class diagram is an example of ---------- . 

Option A: Meta-model 

Option B: Design Pattern 

Option C: Architectural style 

Option D:  Analysis of data 

  

Q19.  Which  of the following  architectural style provides modularity? 

Option A: Independent Components architecture 

Option B: Pipe line architecture 

Option C: Call and return architecture 

Option D:  Data flow architecture 

  

Q20. The content collaboration meta-model is also known as the ---------------. 

Option A: Content Management Reference Model 

Option B: Domain model 

Option C: Work area/staging area/edition model (WSE) 

Option D: Arch/Slinky Model 

  

Q21. Which of the following describes Virtual Machine style? 

Option A: A system which simulates some functionality and is not native to one of the 

components of the system 

Option B: A system which consists of a number of independent processes/objects 

communicating via messages 

Option C: A system which transforms input data by a series of computational or 

manipulative components into output data 

Option D:   A system which consists of data store in the file or database is occupying at the 

center of the architecture. 

  

Q22.  Blackboard style  is the example of which architecture mentioned below 
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Option A: Independent Components 

Option B: Repositories 

Option C: Virtual machine architecture 

Option D:  Data flow 

  

Q23. What is Physical Viewpoint? 

Option A: Capturing the mapping of the software onto hardware and specifying its 

distribution. 

Option B: A viewpoint for representing the processing model of the system. 

Option C: A viewpoint for representing functional requirements. 

Option D:  Tying all of the other views together. 

  

Q24.  Why architectural assessment is required? 

Option A: To determine quality of architecture 

Option B: To hide the flaws of system 

Option C: To create architectural description 

Option D:  To perform analysis 

  

Q25. What is logical viewpoint? 

Option A: A viewpoint for representing the processing model of the system. 

Option B: A viewpoint for representing functional requirements. 

Option C: A viewpoint describing abstraction 

Option D:  A viewpoint representing the static organization of the software with respect to 

the software development environment. 
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Program: BE IT Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI  

Course Code: ITDLO6023 and Course Name: Digital Forensics 

Time: 1-hour                                                                                                                           Max. Marks: 50 

==============================================================================  

Note to the students: - All the Questions are compulsory and carry equal marks.       

Q1.  Which of the following processes or tools does not create an image of a physical 
drive or logical partition? 

Option A: Disk copy and paste 

Option B: FTK disk imaging 

Option C: Encase disk Imaging 

Option D:  Disk cloning 

  

Q2. A disk that is organized using DOS partitions has an MBR in the first -------byte 
sector 

Option A: 256 byte 

Option B: 512 byte 

Option C: 1024 byte 

Option D: 128 byte 

  

Q3. Select the correct term used for nefarious hackers, and their main motive is to 
gain financial profit by doing cybercrimes. 

Option A: Gray Hat Hackers 

Option B: Black Hat Hackers 

Option C: Hactivists 

Option D: White Hat Hackers 

  

Q4. Evidence like dried blood, fingerprints, DNA samples comes under _________ 
evidence type. 

Option A: Testimonial Evidence 

Option B: Documented Evidence 

Option C: Substantial Evidence           

Option D: Illustrative Evidence 

  

Q5. Ethical hacking technique used to find out information about operating system 
(OS) running on a remote computer,  is known as 

Option A: Footprinting. 

Option B: Cyber-printing 

Option C: OS fingerprinting 
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Option D:  OS penetration testing 

  

Q6. In four operating modes in SAFEBACK tool, what is significance of verify 
function. 

Option A: Restores forensically sound image files. 

Option B: Performs the Backup and Restore operations in one action. 

Option C: Verifies the checksum values within an image file. 

Option D:  Produces a forensically sound image file for the source 
media. 

  

Q7.  The process of rebuilding data files, one of the five required functions of 
computer forensic tools is known as………… 

Option A: Extraction 

Option B: Reconstruction 

Option C: Reporting 

Option D:  Acquisition 

  

Q8.  Which of the following is not a subtask of Validation and Discrimination? 

Option A: Hashing 

Option B: Filtering 

Option C: Analyzing file headers 

Option D:  Decompressing 

  

Q9. Expert Witness Format used by ENCASE tool stores which type of hashes? 

Option A: RC5 

Option B: MD5, SHA1 

Option C: SHA512 

Option D:  SHA2, RC5 

  

Q10.  Which of the following logs helps network forensic investigators to find out 
exactly which physical network card the IP address was assigned on? 

Option A: DHCP server logs 

Option B: Central server logs 

Option C: Authentication server logs 

Option D:  Router logs 

  

Q11.  Maintaining positive control of all the collected best evidence until the evidences 
are carried to evidence custodians for proper storage is the challenge of 
____________  

Option A: Authentication of evidence              

Option B: Evidence validation 

Option C: Chain of Custody          

Option D:  Evidence maintenance 

  

Q12.  Select invalid scanning method from the given names? 

Option A: Xmas Tree scan. 
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Option B: SYN Stealth scan. 

Option C: Cloud scan. 

Option D: Null Scan. 

  

Q13. In SIFT tool, SIFT stands for 

Option A: SANS Investigation Forensic Toolkit 

Option B: SANS Imaging Forensic Toolkit 

Option C: Systematic Investigation and File system Toolkit 

Option D:  SANS Integrated Forensic Toolkit 

  

Q14.   Select the tool which is not used for scanning purpose. 

Option A: NMAP 

Option B: Nexpose 

Option C: Maltego 

Option D:  Nessus 

  

Q15. Which of the following is the Ethics Norm for investigators in the digital forensics 
field? 

Option A: should be honest and trustworthy      

Option B: uphold any relevant evidence 

Option C: express an opinion on the guilt or innocence belonging to any party 

Option D:  deliberately undertake an assignment beyond his or her capability 

  

Q16.  Suppose an attack has occurred on a system in your organization. You are 
required to analyze the logins of the people on their system. Which of the 
following logs can provide this information? 

Option A: Central Log Server 

Option B: Authentication Server Log 

Option C: Router Logs 

Option D:  DNS Server Log 

  

Q17. Which evidence type is also known as Exculpatory Evidence? 

Option A: Testimonial Evidence 

Option B: Substantial Evidence 

Option C: Explainable Evidence          

Option D: Illustrative Evidence 

  

Q18. Kill command 

Option A: Terminate the process 

Option B: Start the process 

Option C: Reset the process 

Option D:  Reboot the process 

  

Q19.  People involved in incidence response process should belong to _________ 

Option A: Security field 

Option B: Multidiscipline field 
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Option C: Computer field 

Option D:  Network field 

  

Q20. Preserving temporal evidences to replicating disks, Packaging of the evidence, 
transporting evidence and Processing the evidence is the role of  
 

Option A: first respondent 

Option B: Investigators 

Option C: The crime scene technician 

Option D: First respondent and Investigators 

  

Q21. Stores web surfing logs for an entire organization 

Option A: Routers 

Option B: DHCP Servers 

Option C: Web Proxies 

Option D:  Firewall 

  

Q22.  ------------ ensures data is not changed after the time hash is computed also 
ensures copies are accurate. 

Option A: Hashes 

Option B: Indexes 

Option C: Digital signature 

Option D:  Encryption 

  

Q23. Evidences collected from network device logs 

Option A: Flow Analysis 

Option B: Active Acquisition 

Option C: Mode of Detection 

Option D:  Packet Analysis 

  

Q24.  Recovering and Analyzing digital evidence from network resource refers to_____ 

Option A: TCP Port Scan 

Option B: Protocol Analysis 

Option C: Web Proxies 

Option D:  Network Forensic 

  

Q25. In which of the following sources of network-based evidence, information 
related to the attack in progress and the command and control traffic of 
compromised systems can be found? 

Option A: Router 

Option B: Authentication Server 

Option C: Central log server 

Option D:  NIDS/NIPS 
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Program: BE Information Technology 

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI 

Course Code: ITDLO6025 and Course Name: Green IT 
Time: 1 hour                                                                                                                           Max. Marks: 50 

==============================================================================  

Note to the students: - All the Questions are compulsory and carry equal marks .       

Q1.  Which of the following is a renewable energy source?  

Option A: Wind 

Option B: Oil 

Option C: Gasoline 

Option D:  Coal 

  

Q2. Which level is present in CML-Capability Maturity Level 

Option A: Managing 

Option B: Processing 

Option C: Finalizing 

Option D: Optimizing 

  

Q3. Which of these data center energy-saving tactics is the most expensive?   

Option A: Installing blanking panels in racks, and grommets in raised floor 

Option B: Deploying hot-cold aisle containment 

Option C: Raising the inlet air temperature for servers 

Option D: Deploying a Direct Current power distribution system 

  

Q4. Which of the following is correct Emerging Data Centre Metrics for Energy reuse 
effectiveness? 

Option A: Carbon usage effectiveness (CUE)      

Option B: Energy reuse effectiveness (ERE)   

Option C: Data Centre computer efficiency (DCcE) 

Option D: Energy consumer charge 

  

Q5. Which cooling technique is expected to dominate the data center by 2011?  

Option A: Liquid Cooling 

Option B: Hot or cold aisle containment systems 

Option C: Chaos cooling theory 

Option D:  Giant fans 

  

Q6. What is SITS? 

Option A: Synchronous IT Systems 

Option B: Sustainable IT Services 
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Option C: Sustainable IT Servers 

Option D:  Super IT Services 

  

Q7.  Which of the below Information System we cannot use in Greening Enterprises? 

Option A: Environmental Management Information Systems 

Option B: Software and Databases 

Option C: ERP EMISs 

Option D:  Greenhouse Gas emission system 

  

Q8.  The Sustainable Development Goals (SDGs) recognize that all countries must 
stimulate action in the following key areas.  

Option A:  people, planet, prosperity, peace and partnership 

Option B:  people, planet, prosperity, plants and planning 

Option C:  people, planet, prosperity, plants and partnership 

Option D:   people, planet, prosperity, peace and planning 

  

Q9. From bellow options, which is not a major category of systems Organizational IS? 

Option A: TPS 

Option B: DSS 

Option C: CSS 

Option D:  EMIS 

  

Q10.  According to the text, characteristics of sustainable communities include- 

Option A: public spaces 

Option B: controlled growth 

Option C: mixed uses 

Option D:  only a and b 

  

Q11.  The GHG Protocol is based on five principles 

Option A: Relevance- Completeness- Consistency- Transparency and Accuracy 

Option B: Recycling- Completeness- Consistency- Transparency and Accuracy 

Option C: Relevance- Completeness- Consistency- Transitions and Accuracy 

Option D:  Relevance- Complexity- Consistency- Transparency and Accuracy 

  

Q12.  There is a need for sustainable solutions as______ 

Option A: Our current technological innovations have an effect on the environment 

Option B: To keep using our non-renewable resources 

Option C: to completely use the resources and leave nothing for future 

Option D: None 

  

Q13. UAE takes the lead in growing green and aims to     

Option A: not to use green technology 

Option B: become one of the World leaders in green products and technology 

Option C: to avoid waste only 

Option D:  to reduce carbon emission only 
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Q14.  Across the globe, the ________industry is declining, while renewable energy 
industries are on the rise.   

Option A: Coal 

Option B: Water 

Option C: Wind 

Option D:  Fire 

  

Q15. Which of the following is not a method for achieving data efficiency?    

Option A: Managing Disk I/O 

Option B: Pre-Fetching and Caching 

Option C: Buffering 

Option D:  Vectorization 

  

Q16.  Which of the following is not Objective of Green Networking?     

Option A: Minimizing the carbon footprint of delivery networks 

Option B: Improving operational sustainability in wireless networks 

Option C: Increasing the financial cost for operators to transmit 

Option D:  Allowing application QoS to be achieved within network resource constraints 

  

Q17. Which of the following is not Business Dimensions for Green IT Transformation? 

Option A: Economy 

Option B: Technology 

Option C: Process 

Option D: Management 

  

Q18. Which is the correct option of IT Usage and Hardware for Greening the 
Enterprise? 

Option A: Green Management of Data Centres 

Option B: Energy renewal Information Technology 

Option C: Environmental Information Technology System 

Option D:  Gross Management of Data Centres 

  

Q19.  Select incorrect SICT Capability Building Block from following options 

Option A: Strategy and planning 

Option B: Process management 

Option C: People and culture 

Option D:  Gracefulness 

  

Q20. Which of the following is not a dimension of Green IT?   

Option A: Greening IT systems and usage 

Option B: Using IT to support environmental sustainability 

Option C: Using IT to create green awareness 

Option D: Using IT to facilitate new software’s 

  

Q21. A correct Capability Maturity Framework for SICT is- 

Option A: Define the scope and goal of SICT. 
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Option B: Understand the all non-current SICT capability maturity level 

Option C: Unsystematically develop and manage the SICT capability building blocks 

Option D:  Assess and do not manage SICT progress over time 

  

Q22.  Select correct option for Risk assessment involves six steps from Information 
Assurance 

Option A: 1.Identify 2. Analyze 3. Plan 4. Track 5. Control 6. Communicate and document 

Option B: 1.Initialize 2. Analyze 3. Process 4. Track 5. Complex 6. Communicate and Deploy 

Option C: 1.Identify 2. Analyze 3. Process 4. Track 5. Control 6.Communicate and 
document 

Option D:  1.Initialize 2. Analyze 3. Plan 4. Test 5. Combine 6.Communicate and Deploy 

  

Q23. Which of the following is not an objective of Energy-Optimizing Protocol Design?  

Option A: Minimizing the number of overhead packets O per protocol 

Option B: Minimizing the number of mandatory M bits per protocol 

Option C: Maximizing retransmission attempts R 

Option D:  Maximizing the number of successful data packet sends S 

  

Q24.  What SNIA stands for? 

Option A: Storage Networking Industry Association 

Option B: Service Networking Industry Agency 

Option C: Storage Non-Industry Association 

Option D:  Service Non-Industry Agency 

  

Q25. Which is incorrect factor of Functional Level Information 

Option A: Data Centre Energy Efficiency 

Option B: Data Centre Power Metrics 

Option C: Greenhouse emission 

Option D:  Emerging Data Centre Metrics 
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Program: BE Instrumentation Engineering  

Curriculum Scheme: Revised 2016 

Examination: Third Year Semester VI 

Course Code: ISC605 and Course Name: Advance Control System 

Time: 1hour                                                                                                        Max. Marks: 50 

===================================================================== 

Note :- All Questions are compulsory and carry equal marks.       

Q1. For the following system: 

ὼ σὼ ώ 

ώ ίὭὲίὭὲ ώ ὼ 

The singular point at equilibrium state (0,0) is - 

Option A: Stable node 

Option B: Unstable node 

Option C: Saddle point 

Option D: Stable focus 

  

Q2.  The nature of singular point of the system represented by following differential equation : 

ώ  υώ φώ φ is  

Option A: Unstable focus 

Option B: Stable focus 

Option C: Stable node 

Option D:  Unstable node 

  

Q3.  The term backlash is associated with: 

Option A: Servomotors 

Option B: Induction relays 

Option C: Gear trains 

Option D: Tacho generator 
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Q4.  Phase plane method is used for  

Option A: Stability analysis  

Option B: Controllability analysis  

Option C: Observability Analysis 

Option D:  Duality Analysis 

  

Q5. When eigenvalues are complex conjugate and real part is positive , singular point 

is 

Option A: Stable Focus 

Option B: Unstable node 

Option C: Stable node 

Option D:  Unstable Focus 

  

Q6. When one eigen value at L.H.S. side and another eigen value at RHS side, 

singular point is 

Option A: Stable Focus 

Option B: Saddle point 

Option C: Vortex point 

Option D:  Unstable Focus 

  

Q7. Eigen values are (-8 and 40) so the singular point is 

Option A: Stable Focus 

Option B: Saddle point 

Option C: Vortex point 

Option D:  Unstable Focus 

  

Q8. Trajectories are going away from equilibrium points, so system is said to be 

Option A: Unstable 

Option B: stable 
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Option C: Marginally stable 

Option D: Stable between particular band 

  

Q9. Find out type of singular point at (0,0) equilibrium point of following system 

 

Option A: Stable node 

Option B: Unstable node 

Option C: Saddle point 

Option D:  Stable Focus  

  

Q10.  Describing function of an ideal relay is 

Option A: τὓ

“ὢ
 

Option B: τὢ

“ὓ
 

Option C: τὓ

ὢ
 

Option D:  τὓ

“Ѝὢ
 

  

Q11. Describing function of a dead zone nonlinearity is  

Option A: 
τὓ

“ὢ
ρ

Ὀ

ὢ
 

Option B: τὓ

“ὢ

Ὀ

ὢ
 

Option C: 
τὓ

“ὢ
ρ

ὢ

Ὀ
 

Option D:  τὓ

“ὢ
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Q12. The plot of  ὋὮplot intersects with ‫ 
ȟ

 plot at ὒ (limit cycle) 

 

Using Perturbation technique determine the stability of  L 

Option A: Stable 

Option B: Unstable 

Option C: Semi stable  

Option D:  Cannot be determined 

  

Q13. A system has ON/OFF nonlinearity with amplitude ° 1 and linear component  

Ὃί
ρ

ίί ρ ί ς
 

 

Determine the frequency of limit cycle is  

Option A: 2.82 rad/sec 

Option B: 2 rad/sec 

Option C: 1 rad/sec 

Option D:  Ѝς rad/sec 

  

Q14. According to describing function analysis which of the following statement is true 

Option A: Stability of closed loop system is determined by investigating behavior of Nyquist 

plot around critical point (-2+j0) 

Option B: Stability of closed loop system is determined by investigating behavior of Nyquist 

plot around critical point (1+j0) 

Option C: Stability of closed loop system is determined by investigating behavior of Nyquist 
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plot around critical point (-1+j0) 

Option D: Stability of closed loop system is determined by investigating behavior of Nyquist 

plot around critical point (-2-j0) 

  

Q15.  Which of the norm is equal to the Euclidean distance? 

Option A: 1-norm 

Option B: 2-norm 

Option C: p-norm 

Option D:  Infinity norm 

  

Q16. The dynamics of a pendulum  

 

 

are described by   ὼ ὼ and ὼ ὼ ίὭὲ ὼ  

Determine the equilibrium/equilibria for the system 

 

Option A: (0,0) 

Option B: ( , 0) and (- , 0) 

Option C: (°n , 0) 

Option D:  (0,° ) 

  

Q17. A second order nonlinear system is described by ὼ πȢφὼ σὼ ὼ π 

Determine the eigen values of the linearized system are  

Option A: -0.3°j1.71 

Option B: -1.41,-2.01 
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Option C: 0.3°j1.71 

Option D:  1.41,2.01 

  

Q18.  Using Lyapunovôs linearization method, if the linearised system is strictly stable 

then which of the following statement is true for the actual nonlinear system 

Option A: The actual nonlinear system is marginally stable 

Option B: The actual nonlinear system is asymptotically stable 

Option C: The actual nonlinear system is unstable 

Option D:  Cannot determine the stability of the actual nonlinear system 

  

Q19. A second order nonlinear system is described by 

ὼ χὼ τὼ 

ὼ ὼ ὼ ὼ 

Using Lyapunovôs direct method, determine the stability of the origin. The 

equilibrium is 

Option A: Stable 

Option B: Asymptotically stable locally 

Option C: Globally asymptotically stable 

Option D: Unstable  

  

Q20. For an equilibrium to be stable in the sense of Lyapunov which of the following 

conditions must be satisfied: 

i. V(x) should have continuous partial derivatives with respect to x 

ii.  ὠὼ must be negative semidefinite 

iii.  ὠὼ must be positive definite 

iv. ὠὼ must be negative definite 

v. ὠὼᴼЊ  as ᴁὼᴁO Њ   

vi. ὠὼ is positive definite 

Option A: i-iii -vi  

Option B: i-iii -iv-v  

Option C: i-iii -vi  

Option D: i-ii -iii  
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Q21. If ὠὼ ρ ὼ ὼ . The region of attraction for the trajectory is  

Option A: interior of unit circle 

Option B: exterior of unit circle 

Option C: origin 

Option D:  boundary of the unit circle 

  

Q22.   is plant and  is classical controller, then sensitivity function is given by 

Option A:  

Option B:  

Option C:  

Option D:   

  

Q23. If output of the system depends on current and/or past input then the system is 

called as 

Option A: non-minimum phase. 

Option B: minimum phase. 

Option C: causal. 

Option D:  non-causal. 

  

Q24. A perfect control cannot be realizable for delay system because 

Option A: controller is unstable. 

Option B: controller is non-causal. 

Option C: controller is improper. 
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Option D:  controller is causal but improper. 

  

Q25. In IMC control design, filter is designed - - - - 

Option A: to reject the input disturbance.  

Option B: to reject the output disturbance.  

Option C: to reject the sensor noise. 

Option D: to make the controller proper. 

 

 


